Functions

1. Given f(z) = 222 + Tz + 9 and g(z) =
4 — 5z, find the following:
f(=1)
9(=2)
the values of x for which g(z) =0
f2) —9(=2)
2. Given f(z) = —32% + 2z + 4, find the
following;:
(a) f(=2)
(b) f(2) = f(1)
(c) the values of x for which f(z) =4

(a
(b
(c

)
)
)
(d) f

3. Given f(z) = —2? — 6z + 16 and g(z) =
2 — 5z, find the following:

(a) f(=2)
(b) the values of = for which f(x) =0
(c) f(3)—9(3)

4. Given f(z) = 2 + bz and g(z) = 2 — bz,

find the following:

(a) f(3)
(b) the values of = for which f(x) =0
(c) f(=2) —g(3)

5. Given f(z) = x*+6x +4, find the follow-

ing:

(a) f(2)

(b) f(3)

(c) fla+h)

(d) the values of = for which f(x) = —4

[6-13] Find the (a) domain, (b) range, (c)
intercepts, (d) sign, and (e) local extrema
of the following functions.




12.

13.

10.

Answers:

(-1,-6.25)

11.

15

(d) 17

10

(1.1,-5)

(a) 24

(-2.4,17)

-0

(b) 2 =-8, x =2



(c) =% 10.

(a) 20
(b) ¥
(¢) a*+ 2ah + h* + 6a + 6h + 4
(d) v=-2, x=—-4
11.

(a) R
(b) R
(c)z=-1, =2 y=1
(d) +: (=00, —1)U(-1,2), —:(2,00)

)

Local Max: (1,2), Local Min: (—1,0)

(a) R 12.
(b) R
(c)x=2,y=1
(@) +:(=00,2), —:(2,00)
(e) None
(a) R 13.
(b) (=00,4]
(¢c) =0, z=4, y=0
(d) +: (O 4) — 1 (—00,0) U (4, 0)
)

(=00, 4]
(b) (—00,2]
r=-2, 2=0, =3, y=0

(d) +:(-2,00U(3,4], —:(—00,—2)U
(0,3)

(e) Local Max: (—1,1), Local Min: (2, —2)

(a) R

(b) [—6.25,00)

(c) z2=—-6, z=4, y=—6

(d) 4+ : (=00, —6)U (4, 0) (—6,4)

(e) Local Min: (—1,—6.25)

(a) R

(b) R

(c)z=—-4,2=0, =2, y=

(d) +:(—4,0)U(2,0), —:(—o00,—4)U
(0,2)

(a) R

(b) [=3,00)

(c)z=-3, =0, y=

(d) +:(—00,—3)U(0,00), —:(=3,0)
)

r=—4 rv=-1, =2 y=1
+:[-5,4)uU(-1,2), —:(—4,-1U
(2, 3]

(e) Local Max: (1,2), Local Min: (—3,—2)



